
  

For residential, commercial, public building, farm and industrial roofs 

Version 1.0 date 08/06/12 

LƴƴƻǾŀǘƛƻƴ tŀǎǎ άDǊŜŜƴ [ƛƎƘǘέ ƴ° 2010-07 
Eligible for CEIAB 2011-2012 accreditation 

The Easy-Roof system is insured if the module received the IEC 61215 and IEC 61730 agreements 

EASY ROOF DATASHEET 
 

aƻŘŜƭ άŜ-мέ ǘȅǇŜ 1676*1001 - Landscape 
¢Ƙƛǎ ƛƴǎǘǊǳŎǘƛƻƴ Ƴŀƴǳŀƭ ƛǎ ŦƻǊ 9ŀǎȅ wƻƻŦ ŦǊŀƳŜ ƳŀǊƪŜŘ άŜ-1" 



Data sheet for Easy-Roof for built-in integration of 
system IRFTS 

Parts not provided in the kit 
Number Designation 

a Counter sunk head screw six lobes 5x60 Inox (wood) 

b Stainless steel rounded end screw six lobes 5x30  (flashing) 

c Wood 100x18 (verge) 

d Wood 150x27 (support panel, length see page 11) 

f Wood 40x13,5 

g Wood 60x27 

h Verge 

Parts provided in the kit 
Number Designation 

1 Frame panel 
2 Left flashing 
3 Right flashing 
4 Top flashing 1/2 
5 Top flashing 2/2 
6 Superior simple fixing clamp 
7 Inferior simple fixing clamp 
8 Central double fixing clamp 
9 Double fixing flange 
10 Simple fixing flange 
11 Stainless steel rounded end screw 6x40 
12 Stainless steel hexagon screw 5x35  
13 Stainless steel square nut 

Optionnal Parts 
14 Top Left flashing(assembling in L) 
15 Top right  flashing (assembling in L) 
16 Inferior simple fixing clamp (black) 
17 Double fixing flange (Black) 
18 Simple fixing flange (Black) 

aƻŘŜƭ άŜ-мέ ǘȅǇŜ мстсϝмллм 2 



aƻŘŜƭ άŜ-мέ ǘȅǇŜ мстсϝмллм 

1 

2 3 

4 5 

6 

7 

8 

15 14 

9 10 

18 17 16 

Parts Representation 

3 



GLOSSARY 

Marking of 

ƳƻǳƭŘŜŘ ǇŀǊǘǎ ς 

capital letters

Definition

Marking of 

ƳƻǳƭŘŜŘ ǇŀǊǘǎ ς 

small letters

assembling Definition

I inferior frame a Portrait size frame 1580 x 808

C central frame b Portrait size frame 1650 x 993

S superior frame c Portrait size frame 1351 x 1001

SI (S)uperior and (I)nferior frame d Portrait size frame 1676 x 1001

A-D right flashing f landscape size frame 1580 x 808

A-G left flashing

A-H top flashing

A-H-D top right flashing

A-H-G top left flashing

A-H-C top central flashing

(Exploded view) 

1 lateral flashing by frame height  

aƻŘŜƭ άŜ-мέ ǘȅǇŜ мстсϝмллм 4 



aƻŘŜƭ άŜ-мέ ǘȅǇŜ мстсϝмллм 

Fenêtre de toit

CADRE 

CADRE 

A
D

A
D

A
G

A
D

A
D

CADRE 

A
D

Cheminée

A
D

AH 2/2

AHD 1/2 AH 2/2 AH 1/2 AHG 2/2

A
G

CADRE 

CADRE 

CADRE CADRE CADRE 

CADRE CADRE 

CADRE 

CADRE 

A
G

A
G

A
G

A
G

CADRE 

CADRE CADRE CADRE CADRE 

AHG 1/2

CADRE 

AH 1/2 AH 1/2 AH 2/2AH 2/2 AH 1/2 AH 2/2 AH 1/2 AH 2/2

AHD 1/2 AHG 2/2

AH 1/2 AH 2/2

AHD 1/2 AH 2/2

AD

CADRE 

CADRE 

A
G

AG

A
D

A
D

AG

AH 1/2 AH 2/2

AH 1/2

CADRE CADRE CADRE 

CADRE CADRE 

AHG 2/2

CADRE CADRE 

Using different frames according to the configuration of the 
photovoltaic field 

Film under the roof 

From a 40 degrees slope, we require the use of a film under the roof before 
fixing the Easy roof integration system . This under roof film must comply with 

regulations. Under 40 degrees please refer to roofing regulations 

5 



Possible shift from modules in vertical position 

Constant shift  

Variable shift 

X 

1 step 

Support plank 
 150 x 27 

simple flange and 
superior simple clamp 

Double flange and 
clamp 

Frame 

simple flange and 
inferior simple clamp 

aƻŘŜƭ άŜ-мέ ǘȅǇŜ мстсϝмллм 6 



Parts to prepare before  assembling the kit 

1) flashings preparation 

Pre-assemble the double flange (9) with screw 
M5*35 TBHC (12) et square nuts (13). 

Pre-assemble the simple flange (10) with M5*35 
TBHC screws (12) square nuts (13).  

Pre-assemble each simple clamp (7) with a screw 
M5*35 TBHC (12) 

Pre assemble each simple clamp 
(6) With  M5*35 TBHC screws (12) 

aƻŘŜƭ άŜ-мέ ǘȅǇŜ мстсϝмллм 7 



aƻŘŜƭ άŜ-мέ ǘȅǇŜ мстсϝмллм 

Y 

X 

Y
1 1178

2 2200

3 3222

4 4244

5 5266

6 6288

7 7310

Module 

number in 

heigth

Ex : (1701 x  6   )+ (2 x 12,5)= 10231 Ex : (1701 x  12  ) + (2 x 12,5)= 20437 

Ex : (1022 x   3  ) + 156 = 3222 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

X 1726 3427 5128 6829 8530 10231 11932 13633 15334 17035 18736 20437 22138 23839 25540 27241

Module number in length

1701 1701 

180 
172 

12,5 12,5 

Dimension of the photovoltaic field 
Visible part of installation  

Y Height of the field (mm) (1022*Nby)+156

X Width of the field (mm) (1701*Nbx)+(2x12,5)

Dimension Features of photovoltaïc field

Nby Number of modules in the rake direction

Nbx number of modules perpendicular to the rake

8 



aƻŘŜƭ άŜ-мέ ǘȅǇŜ мстсϝмллм 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

Cote L 2078 3779 5480 7181 8882 10583 12284 13985 15686 17387 19088 20789 22490 24191 25892 27593

Module number in length

Cote H 
1 1359

2 2381

3 3403

4 4425

5 5447

6 6469

7 7491

Module 

number in 

height

Ex :( 1701 x  3  )+ (2 x 12,5) + 172+180 = 5480 
Ex : ( 1701 x  12  ) + (2 x 12,5) + 172+180= 20789 

Ex : (1022 x   3  ) + 337= 3382 

H 

L 

The length of the wood 150x27 is the same as 
the measurement L + sufficient length on 
each side for being in support on the rafters 
exterior to the frame 

dimension of the Easy - Roof system 

Position of the field on the roof 

1) Looking for the position of the photovoltaic field 

A 

The measurement  A  should be positioned on the concave part of the tiles.  
A > measurement  X (for X value see on page 8) 

 

40 mm 40 mm 

MAXI MAXI 

9 



aƻŘŜƭ άŜ-мέ ǘȅǇŜ мстсϝмллм 

wŜŎƻƳƳŜƴŘŀǘƛƻƴ ŦƻǊ ǎƪƛǊǘΩǎ ōƻŀǊŘ 

1Á) The top of the ǎƪƛǊǘΩǎ board (g)* must not be higher than the top of the tile. 

(side view) 

(side view) 

¢ƻǇ ƻŦ ǘƘŜ ǎƪƛǊǘΩǎ ōƻŀǊŘ 

¢ƻǇ ƻŦ ǘƘŜ ǎƪƛǊǘΩǎ ōƻŀǊŘ 

c 

c 

(side view) 

(side view) 

2Á)  Be sure the frame lean properly on the batten (d)*. 
 
3Á) The ŦǊŀƳŜΩǎ bottom must not lean on the skirt 
board (c)*.  

c 

c 

d 

d 

ϝ tŀǊǘΩǎ ƭƛǎǘ ǊŜŦŜǊŜƴŎŜ ǇŀƎŜ н 

4Á) The ǎƪƛǊǘΩǎ board and the skirt must be 2 tiles longer 
than the PV field. 

10 



1) 

4) 5) 

Remove the tiles from the photovoltaic field, 
dimensions L x H (for L and H see page 9) 

Do not stick the verge to the 
extremities in order to make a 
fold when fixing  the flashings 

Do a return on the verge 

Stick the verge on the boards and give it the 
shape of the tiles. 

. 

H 

L 

2) 

Put the decking of the flashing. 
screw it with Stainless steel screws 

5*60 with countersunk head 

d* c 

f 

Reference Board 
(150x27) 

* Nomenclature reference 

Inferior 
batten 

Put the horizontal decking for the frame support. The number of boards 150*27 (d) 
equal to (Vertical  modules numbers PV +1)and spaced of 1022 mm. Fix the board 

60*27(g) on the top of decking at 200 mm from the last board 150*27. Put the verge 
(recommendation 320 mm mini). 

 
 

1022 mm 

Reference board 

3) 

1022 mm 
d 

200 mm 

g 

aƻŘŜƭ άŜ-мέ ǘȅǇŜ мстсϝмллм 11 


